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Puissances de Dix (D)

0 =

90 =
900 =
9000 =
90 000 =

60 =
600 =

6 000 =
60 000 =

800 =
8 000 =
80 000 =

20 =
200 =
2000 =
20 000 =

70 =
700 =
7000 =
70 000 =

7 % =
7 x 30 =
7 x 300 =
7 x 3000 =
7 x 30 000 =
5 x =
5 x 30 =
5 x 300 =
5 x 3000 =
S5 x 30 000 =
1 % 1=
1 % 10 =
1 x 100 =
1 x 1000 =
1 % 10 000 =
6 x =
6 x 50 =
6 x 500 =
6 x 5000 =
6 x 50 000 =
133 x 9=
133 % 90 =
133 x 900 =
133 x 9000 =
133 x 90 000 =
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Puissances de Dix (D) Solutions

6 x 9 = o4 7 x 3 = 21
6 x 90 = 540 7 x 30 = 210
6 x 900 = 5400 7 x 300 = 2100
6 x 9000 = 54 000 7 x 3000 = 21 000
6 x 90000 = 540 000 /7 x 30000 = 210 000
3 x 6 = 18 5 x = 15
3 x 60 = 180 5 x 30 = 150
3 x 600 = 1800 5 x 300 = 1 500
3 x 6 000 = 18 000 5 x 3000 = 15 000
3x 60000 = 180 000 5x 30000 = 150 000
5 x 8 = 40 1 x 1= 1
5 X 80 = 400 1 % 10 = 10
5 X 800 = 4 000 1 % 100 = 100
5 X 8 000 = 40 000 1 % 1000 = 1000
5x 80000 = 400 000 1x 10000 = 10 000
2 x 2= 4 6 x = 30
2 x 20 = 40 6 x 50 = 300
2 x 200 = 400 6 x 500 = 3 000
2 x 2000 = 4 000 6 x 5000 = 30 000
2x 20000 = 40 000 6 x 50000 = 300 000
8 x 7= 56 133 x 9 = 1197
8 x 70 = 560 133 X 90 = 11 970
8 x 700 = 5600 133 x 900 = 119 700
8 x 7000 = 56 000 133 x 9000 = 1197000
8 x 70000 = 560 000 133 x 90000 = 11970 000
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